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System is Idling... Check Signal
EEG CHANNEL 1: 01: Avg Ampl. = 32.1 ¥ Base: 0
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EEG CHANNEL 2: 02: Avg Ampl. = 34.8 u¥ Base: 0
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Component Grand Avg.  Damped Avg. % Energy
Delta .0-3.0; 35 36 32 38 75 89
Theta X 50 52 53 55 105 140
Alpha (8.0-12. 56 56 55 56 194 149
Lobeta o 54 51 53 47 105 6.2
Beta (15.0200: 66 66 62 65 98 131
Hibeta (20.030.0: 86 88 82 92 225 233
Gamma (38.0420: 20 22 20 21 00 00
User (30.0350: 51 49 51 43 47 35

VALUE A RULEVALUEB  THEN: VALA VALB %TIME L
COM; GT  x=CT;  tone 99.22 96.00 25.4 " Event: 1, x-ACOM;
1F; GT 05 point>1 100 050 85

Event 5, x=E1F;





